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$� .HVLPSXODQ

%HUGDVDUNDQ�KDVLO�SHQHOLWLDQ�\DQJ�WHODK�GLODNXNDQ�GDSDW�GLVLPSXONDQ�EDKZD�

WHUGDSDW�NRUHODVL�\DQJ�WLGDN�EHUPDNQD�DQWDUD�NDGDU�DVDP�XUDW�GHQJDQ�NDGDU�JXOD�

GDUDK� VHZDNWX� SDGD� SHQGHULWD� 'LDEHWHV�0HOLWXV� WHUNRQWURO� GDQ� WLGDN� WHUNRQWURO��

6HUWD� WLGDN� DGDQ\D� SHUEHGDDQ� \DQJ� VLJQLILNDQ� DQWDUD� DVDP� XUDW� SDGD� GLDEHWHV�

PHOLWXV�\DQJ� WHUNRQWURO�GDQ� WLGDN� WHUNRQWURO��6HKLQJJD�GDSDW�GLVLPSXONDQ�EDKZD�

WHUGDSDW�NRUHODVL�\DQJ�VDQJDW�OHPDK�GDQ�WLGDN�EHUKXEXQJDQ�VHFDUD�VWDWLVWLN�DQWDUD�

NDGDU�DVDP�XUDW�GHQJDQ�JXOD�GDUDK�SHQGHULWD�'LDEHWHV�0HOLWXV�EDLN�\DQJ�WHUNRQWRO�

PDXSXQ�WLGDN�WHUNRQWURO�

%� 6DUDQ

�� 6DUDQ�XQWXN�PDV\DUDNDW

8QWXN� PDV\DUDNDW� GLVDUDQNDQ� DJDU� WHWDS� PHQMDJD� SROD� KLGXS� VHKDW� GDQ�

PHQJRQWURO�DVXSDQ�PDNDQDQ��PHVNLSXQ�SDGD�SHQHOLWLDQ�LQL�WLGDN�PHQXQMXNNDQ�

DGDQ\D�SHQLQJNDWDQ�DVDP�XUDW�SDGD�SHQGHULWD�'LDEHWHV�0HOLWXV��

�� 6DUDQ�XQWXN�SHQHOLWL�VHODQMXWQ\D

D� 8QWXN�PHQJKLQGDUL� WHUMDGLQ\D�ELDV�GLVDUDQNDQ�XQWXN�SHQHOLWLDQ�VHODQMXWQ\D�

XQWXN�PHPSHUWLPEDQJNDQ�IDNWRU�ODLQ�VHSHUWL�XVLD GDQ�MHQLV�NHODPLQ�

E� +DVLO�SHQHOLWLDQ�GDSDW�GLMDGLNDQ�VHEDJDL�GDWD�SHQXQMDQJ�XQWXN�SHQHOLWLDQ�OHELK�

ODQMXW�GDQ�PHQJHWDKXL�IDNWRU�DSD�VDMD�\DQJ�EHUSHQJDUXK SDGD�NDGDU�DVDP�XUDW�

GDQ�JXOD�GDUDK�
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F� /RNDVL� GDQ� VXE\HN� SHQHOLWLDQ� SHUOX� GLSHUEDQ\DN� XQWXN�PHQGDSDWNDQ� KDVLO�

\DQJ�GDSDW�GLWHUDSNDQ�NH�PDV\DUDNDW�\DQJ�OHELK�OXDV�

G� 3HUOXQ\D�SHQHOLWLDQ�OHELK�ODQMXW�PHQJHQDL�SHUEDQGLQJDQ�NDGDU�DVDP�XUDW�GDQ�

NDGDU�JXOD�GDUDK�VHZDNWX�SDGD�ODNL�ODNL�GDQ�SHUHPSXDQ


